


AB and CD are two chords in a circle
with centre O and AD is the diameter.
When produced, AB & CD meet at point
P. If ~ DAP = 27°, Z APD = 35°, then
what is the measure (in degrees) of £
DBC?
O &% didd Ud gd H AB 32X CD &l Sfiang
® 3N AD 3USI 419 © | 9611 WX AB IR
CD fdg P wX fiied 2| afd « DAP = 27,
PAAPD = 35° @, d «DBC &1 71y (f$Hl )

T 27
@ (a) 32 (b) 30 @

(c) 26 () 28




S A R In the given fig. A tangent SR touches a
circle with diameter AB at point A and
\ 2 tangent TQ touches the circle at point
B. If RP =12 cm and PQ = 3 cm, then
find the value of OP. (O is the centres of
2 the circle)
fer v 3 4 v wWIRwEr SR fdg A W
A AB dTdd U& 9 &I W Xl = A
WIRET TQ 9« &I fdg B X Wyl &l 2 |
gfe RP = 12 |+ sk PQ = 3 4 2, «l
OP &1 #11 HId_&Ifvg | (O <1 &1 &% 2)

(a) 8 cm (b) 9 cm

\_!9]’6 cm (d) 10 cm







In the given fig. ABCD and ABEF are two
cyclic quadrilaterals. If £ BCD = 110°
then find £ BEF

& g 3Mpfa 4 ABCD 3iR ABEF &l ddd




If in two circles, arc of the same length
subtend angles 60° and 75° at the
center, find the ratio of their radii.

O= ArCagpume % & @6 4, W @z & a9 3% W

9 60° 3MX 75° ® HIVT AaART & &, dl STDI
Progra &1 Jurd sird By |
ed—l- (a) 2:3 ) 5:4

(c) 3:4 (d) 4:5
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In an equilateral triangle of side 23
cm, a circle is inscribed touching the

sides. What is the area of the remaining
portion of the triangle?

23 WA o ad e wwErg B A
Ol bl W3 d¥d ¢ Udb g 3ifdbd g3l
2| Brpe @ 9N AT &1 d3a%d Fr 27

(a) (2\/5— n) cm M\E - n) cm

¥H2—TT \L ,E (c) (4J§ -211;) cm (d) (4J§ ~1) cm
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Find the value of x







If AC = 8, BD = 6, BE = EC. Find area of
shaded region. (BTITfdhd &)

.2 ’}f 12 unit? (b) 15 unit?2

(c) 9 unit? (d) NOT

®



Find the value of x in given figure when
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In the adjoining figure in AABC, AP =
BD and AC = DC, ZC =44°, then ZA =?
fau 17 fam ¥ AABCH AP = BD 3i¥ AC =
DC, /C=44°dl ZA =?

(a) 68° (b) 34° @

(c) 112° \(gF 102°



G In AABC, /Cis obtuse. The external

bisector of AAand /Bmeet the
extended line BC and AC at point D and

E. If AB = AD = BE, then find acig\':?
AABC § /CWR Jifere &Iv1 2| LAJR /B
X g3 BC 3R AC & D 3R E WX fied @

gfe AB = AD = BE &, dl zAcquFr?ﬂT



In the figure shown PQR is an isosceles
triangle with PQ = PR, S is a point on
QR such that PS = PT. also ZQPS = 30°.

What is the measure of /RST ?

amgfa 9 <ertar AT @ PQR wHfgdrg By
& forad PQ = PR, S, QR W} Rea fdg gw

—/yaR 2 f& PS = PT 3R ZQPS = 30°.
/RST®T 49 &IT & ?




In right angle AABC, AX = AD and CY =

CD, as shown in the figures below. What
is the measure of ZXDY?

Ud GHHIVT AABCH AX = AD 3R CY = CD
ofar f& faa # fe@mar a1 8 ZXDY &1 4+




The radius of the circumcircle of a right
angled triangle is 15 cm and the radius
of its inscribed circle is 6 cm find the
side of triangle.

s el Be @ uRga @ Brear 15
9t 2 ik Jefqa @ Brear 6 AW @ al

st & o sird SIfeg |
(a) 30,24,25 (b) 30,24,36
(c) 30,40,41 (4)y18,24,30
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Let D be the middle point of the side BC
of a AABC. If the AADCis equilateral
than a2:b2:c2 is equal to:

s ABC ®! ¥l BC &1 D %=y fig 21
afe AADCU® Hda1g o &, dl aZ:b2:c?

= P
(a) 1:4:3 m

(c) 4:3:1 ﬁ (d) 3:4: 1@
A
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(a) AR2 = RC2 (b) 2AR? = RC2
() 3AR? = 4RC?  (d) 4AR? = 3RC?

AABC is an equilateral triangle, PQRS is

a square inscribed in it, then find which
of the following is true.

AABC (& ¥drg Bvol 2, 39 3fdid s
97 PQRS &, @ /1 % 4 &9 41 9T 2 |




In given quadrilateral AB = 5 cm BC =
17 cm, CD =7 cm and AD = 25 cm. If

ZABC + /BCD =270°, then find the

area of quadrilateral ABCD?
\ fer v aqqw ¥ AB = 5 94l BC = 17
% 9#), cD = 7 9# 3R AD = 25 9# I

Wf /ABC + /BCD =270°%, dl dq¥ ABCD
7 2 @ AAG AT BT ?
S Q-:Hb (a) 70 cm? 90 cmﬂ@
(c) 60 cm?2 (d) 80 cm?2
1S AR
‘,"2‘3?"5"" —XEX(S é S gd @r&:@[\




There are how many different integral
sided triangle possible whose perimeter
is 18 unit.

qof @ o A fead Begs & o
Aahd & el aRu 18 3&13 &1

(a) S (b) 6

PD.. J}Vf/ o (d) 8



The perimeter of a triangle is 105 cm.
The ratio of its altitude is 3:5:6 {ind the
sides of the triangle.

e e &1 9w 10879W 2| Brw o)

$dly ®I U 3:56 & Brga @1 qurg
AT HIFIg?

(a) 72,46,36 (b) 62,28,41

(c) 30,60,25 g 50,30,25




Three sides of triangle ABC are 6 cm, 7

fP\' cm and 8 cm. The angle bisector of

biggest angle cut the opposite side and

6 7 divides it into two segment. Find the
length of smaller segment.

AABC®! Hul¢ 6 49, 7 ¥#), 8 4 2
a9l 98 DIV BT GHIGHISIS ATHA drell oIl

,:?7 = @l 3 sl # fanifera @xar @ 8l @s @l
d dare fpad) @
‘23-5 B (a) ?cm (b) %cm
—)L’{j,

48 56
‘rs \/(é] 13 ° (d) TS
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If the given fig. AB = BC, ZADB = ZABC
=90° AD = 3, DC = 15 then find ‘BD’ or x
fam 4 AB = BC, ZADB = Z/ABC=90° AD =

3, DC=15d9 ‘BD’ ®T H

T qdr31?

@) 285 (b) 4SS
() 315 (d)8¢



DA = 16, BD = 9 find area of ABCD.
Ife DA = 16, BD = 9 dl ABCD &I &3%d
SITd 31 2




DA = 16, BD = 9 find area of ABCD.
HﬁTDA—IG BD = 9 di ABCD &T &9%d




AD =17 cm BD = 15 cm, find x?
Jfe AD=17cm ddT BD=15cm dl x = ?




If AC = DC, AB = 3, BC = EC = 12 find
ED?

gfe AC = DC, AB = 3 T BC = EC = 12 dl
ED = ?




If AD = 4, BC = 10, BD is an angle
bisector then find the area of shaded
region?

qf¢ AD = 4, BC = 10 W1 BD IV
gafgareied 2, df SHfed 9NT HT &3%d
qAT3N 7
A
4 /\ixlm(‘l
¢ D —20
B ¢




.Triangles ABC and DBC are right angled

triangles with common hypotenuse BC.
BD and AC intersect at P when
produced. If PA = 8 cm, PC = 4 cm and
PD = 3.2 cm, then the length of BD, in
cm is.

251 ABC 3k DBC S®fss &vi BC drd
TqHIvT s €| BD 3R AC &1 s WR d
P WX yfa=8< Bidl & afs PA = 8 9l PC =
4 9 3R PD = 3.2 9 &, A BD &) o«

_L‘apmﬁl

(a) 5.6
(c) 6.4

(b) 7.2

/m’s.s






